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NEB - GRADE XII

Elements of Finance-II

ljBfyL{x?n] ;s];Dd cfkm\g} zAbdf pQ/ lbg'kg]{5 . bfof“ lsgf/fdf lbOPsf] cª\sn] k"0ff{ª\s
hgfp“b5 .
Candidates are required to give their answers in their own words as far as
practicable. The figures in the margin indicate full marks.

Time: 3 hrs. Full Marks: 100
Pass Marks: 35 (For partial students only)

;a} k|Zgsf] pQ/ lbg'xf];\ . (Attempt all questions.)

!= ljQsf lgoldt sfo{x?af/] j0f{g ug'{xf];\ . %
Explain about the routine function of finance.

@= ljQLo ahf/ eg]sf] s] xf] < ljQLo ahf/sf d'Vo sfo{x? pNn]v ug'{xf];\ . @±#
What is financial market ? State the main functions of financial market.

#= gub k|jfx ljj/0fsf ljleGg lj|mofsnfkx?sf] pbfx/0f;lxt j0f{g ug'{xf];\ . !)
Describe the different activities of cash flow statement with example.

$= Pp6f sDkgLn] ? %,)),))) sf] $÷!) v'b !* df ;fdfu|L v/Lb u/]sf] 5 . dfgf+} Ps
jif{df #^) lbg x'G5 .
A company purchase materials of Rs. 5,00,000 under the terms of 4/10 net
18. Assume 360 days in a year.

tof/ ug'{xf];\ (Required): #±$±#
a) jflif{s C0fsf] nfut k|ltzt (Annual cost of debt in %)

b) k|efjsf/L b/ (Effective rate)

c) olb 5'6 glnO{ efvf a9fP/ $@ lbg ug]{ xf] eg] jflif{s C0fsf] nfut k|ltzt
Annual cost of debt in %, if non-discounted payment period stretches
to 42 days.

%= k"jf{lwsf/ z]o/sf] cy{ n]vL o;sf ljz]iftfx? pNn]v ug'{xf];\ . %
Write the meaning of preference share and mention its features.
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^= Pp6f sDkgLsf] lgDgfg';f/ hfgsf/L lbOPsf 5g\ .
Following informations of a company are as under:
clws[t k"“hL (Authorized capital) @ Rs. 100 each 20,00,000

hf/L k"“hL (Issued capital) @ Rs. 100 each 8,00,000

z]if d'gfkmf (Retained Earnings) Rs. 2,00,000

tof/ ug'{xf];\ (Required): !+@±@
a_ ;fwf/0f z]o/sf] s"n lstfaL d"No  (Total book value of share)

b_ k|lt z]o/ lstfaL d"No (Book value per share)

c) olb af“sL z]o/x? ? !@) sf b/n] hf/L u/]df k|lt z]o/ lstfaL d"No
Book value per share if remaining shares issued @ Rs. 120 each.

&= !)% C0fkq ;DaGwL hfgsf/Lx? lgDgfg';f/ 5g\ M
Following are the information relating to 10% debentures.

c+lst d"No (Face value) Rs. 100/debenture

kl/kSj cjlw (Maturity period) 8 year

s/sf] b/ (Rate of Tax) 25%

k|jfx nfut (Flotation cost)          c+lst d"Nosf] $% (4% of face value)

tof/ ug'{xf];\ (Required): @=%+@=%
C0f k"“hLsf] nfut (Cost of debt capital)

a) !)% k|Jofhdf lgisfzg u/]df  (If issued at 10% premium)

b) !)% 5'6df lgisfzg u/]df  (If issued at 10% discount)

*= Pp6f sDkgLsf] s/ kZrftsf] gub k|jfx tn lbOPsf] 5 .
The cash flow after tax of a company are as under.

jif{ (Year) k|:tfj (Proposal) P k|:tfj (Proposal) Q
1 20,000 30,000
2 22,000 28,000
3 25,000 25,000
4 28,000 22,000
5 30,000 20,000

b'j} k|:tfjsf] nflu z'?df ? *),))) nufgL cfjZos kb{5 .
Both proposal required Rs. 80,000 for investment at the beginning.

k"“hLsf] nfut * %  5 . (Cost of capital is 8%).
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tof/ ug'{xf];\  (Required): *+@
i) b'j} k|:tfjsf] v'b jt{dfg d"No (Net present value of both proposals)

ii) s'g k|:tfj pko'Qm x'G5 < (Which proposal is suitable ?)

(= a) sfo{zLn k"“hL eg]sf] s] xf] < o;sf k|sf/x? pko'Qm pbfx/0f;lxt JofVof
ug'{xf];\ . @±#
What is working capital ? Explain its types with suitable example.

b) sfo{zLn k"“hL ;DaGwL lgDg hfgsf/Lx? lbOPsf 5g\ .
Following information relating to working capital are given.

df}Hbft kl/0ft cjlw (Inventory conversion period): 50 days

k|fKo kl/0ft cjlw (Receivable conversion period): 40 days

e'QmfgL :yug cjlw (Payable deferred period): 30 days

jflif{s pwf/f] ljqmL (Annual credit sales): Rs. 9,00,000

Ps jif{df lbg (Days in a year): 360 days

tof/ ug'{xf];\ (Required): %
i) gub kl/0ft rqm cjlw (Cash conversion cycle period)

ii) k|fKtL of]Uo cf;fdL (Account receivable amount)

!)= k|fKo eg]sf] s] xf] < o;nfO{ k|efj kfg]{ tTjx? n]Vg'xf];\ . %
What is receivable ? State the elements affecting the receivable.

!!= Pp6f sDkgLn] lgDg hfgsf/Lx? lbPsf] 5M
A company provides the following information:

dlxgf    ljqmL     v/Lb      Hofnf cGo vr{

Months Sales (Rs.) Purchase  (Rs.) Wages(Rs.) Other Expenses (Rs.)

r}q(Chaitra) 6,00,000     2,50,000     60,000     20,000

j}zfv(Baisakh) 5,00,000     2,00,000     50,000     22,000

h]7(Jestha) 4,00,000     3,00,000     40,000     18,000

c;f/(Asar) 6,00,000     3,20,000     55,000     24,000

yk hfgsf/Lx? (Additional informations):

a) ;a} vr{x? ;f]xL dlxgfdf ltl/G5 . (All expenses are paid in the same month)

b) 20% ljqmL gubdf ul/G5 . af“sL pwf/f]df ljqmL ul/G5 . ;a} pwf/f] ljqmL cfufdL
dlxgfdf ;+sng ul/G5 .
20% sales are on cash. Balance on credit. All credit sales collected in
the next month.
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c) j}zfv dlxgfsf] z'? gub ? @),))) 5 .
Opening cash is Rs. 20,000 in the month of Baisakh.

d) ;a} v/Lb cfufdL dlxgfdf e'QmfgL ul/G5 .
All purchase paid in the next month.

tof/ ug'{xf];\ (Required): !)
j}zfv, h]7 / c;f/ dlxgfsf] gub ah]6
Cash budget for the month of Baisakh, Jestha and Asar.

!@= Pp6f sDkgLsf] lgDg hfgsf/Lx? 5g\ M
Following are the information of a company.
jflif{s cfjZostf (Annual Requirement): 1,60,000 kg.

k|lt cfb]z nfut (Ordering cost per order): Rs. 200

k|lt s]hL v/Lb d"No (Purchase price per kg): Rs. 40

;+ef/ nfut (Carrying cost): @ 10%

tof/ ug'{xf];\  (Required): #+@
i) ldtJooL cfb]z kl/df0f (Economic order quantity)

ii) cfbz{ cfb]z kl/df0f (Optimum number of order)

!#= nfef+z e'QmfgLsf r/0fx?af/] j0f{g ug'{xf];\ . %
Describe the steps of dividend payments.

!$= l6Kk0fL n]Vg'xf];\ . (Write short notes): %±%
i) ax'/fli6«o sDkgLsf ljz]iftfx? (Features of  multinational company)

ii) tTsfnLg b/ / cu|ufdL b/ (Spot rate and forward rate)
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